FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft

- 2750 )
- 2720 )
LL IjMMAM N N BN N S e BN MAMMMM“ﬁ LL
- 2750 )
BN EL T 154 Ly
I T T T T T 1 I
=
SlEElE= == = = = = e == e == ==
=
&
S| &4
|EHER=H= === NERERERERERE SRS === e L
| A l
A |
K]
~
Y il

3725

A=Y ulu\

el
2
e/
2
2
el
2
2,
.
[t
/]
/1]
VY
/]
/4]
/1Y

2z,
Z,
2,
2,
2

2

Wz,
Z,
2,

2,

7/

22,

7,
2,

2z

o,

TN\

A=\ ul

/
Item | Component Name Quantity v’\%
A | PALI-BAY-0005 - 3.0m HIGH DIG IN 1 ~
PALISADE POST - AL 3725mm
B | TRIPLE POINT PALE / ROUND & 17
NOTCHED PALE / SINGLE PGINT. ON
REQUEST
C | PALI-BAY-10Z - TOP RAIL FOR W 1
PALISADE FENCING 2.75m WIDE
0 | PALI-BAY-101 - BOTTOM RAIL FOR W 1
PALISADE FENCING 2.75m WIDE
E | ALCS-PAL-0101 - STRAIGHT 2 NAME DATE __JTTLE
o ez [ S
TOLERANCE |+ Zmm
F[M12 X 30mm CUP HEAD BOLT + M12 A Unless Stated Otherwise IIl"F ® First Fence I, Kiln Way, Swadlincore,
|rStFence Derbyshire, DE11 8EA
SHEAR NUT BRD ANELE HIRE & SALES. 01283512111  sales@firstfence.co.uk
G| M8 X 25mm CUP HEAD BOLT + M8 | 34 -] W | ey
SHEAR NUT I\, WEIGHT: SHEET 1 0F 6




2570

LT75 : :
= - Triple Point Pale L
\A =%
d 1 Q\
= 1 =
&
B 2950 |
8 2570 _
LT75
- - Round & Nofched Pale B
\ |/ T IA\Q
f 1 - &
80
B 2950 \OO |
~ 2570 _
- 475 - Single Point Pale |
0 IAXQ
A
- X
d)
B 2950 |

FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft

Palisade Pale Wall Thickness Lome
In Sizes Of 2.0mm 25mm 3.0mm

NAME OATE

ORAWN LT 23/02/21

TOLERANCE [ Zmm
Unless Stated Otherwise

"M 30m W PALISADE PALES
ACTUAL HEIGHT 2950m

3RO ANGLE

o=

ywadlincote,

WFirtFence

SIZE | svotto e iscaepces s Foune it T oRawi  PEASE N
FFFFFFFFFF
AZ COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED.

REV

A

IWEIGHT.

SHEET 2 OF 6




2720

49

49

I

PALI-BAY-102 - TOP RAIL FOR W PALISADE FENCING 2.75m WIDE
A A A A A A A A A A A A A A A
@O N
B e¥ ®/ O
A A A / A A A A A A A A YA JAN A A
/(@)/ ® l@( o o) o o)
154 4 1‘
9.~ 2464 199
17 X 19 @ £I154 PITCH
3 2720 -
PALIABAY-101 - BOTTOM RAIBFOR W PALISADE\FENCING 2.75m WIDE
q
B > 2]
/(@)/ ® ® // 0 o} ¢) ¢) 0 ® @
154 !
9_~ 2464 199
17 X19 @ | 154 PITCH

Palisade Rail Wall Thickness Come
In Sizes 0f 2.0mm 2.5mm 3.0mm

NAME OATE

TITLE

ORAWN

LT 23/02/21

TOLERANCE

+ 72mm

Unless Stated Otherwise

RAILS FOR W PALISADE

FENCING 2.75m WIDE

e Itd, Kiln Way, Swadlincote.

WFirtFence

3RD ANGLE
l/l SIZE EFRDSUTEES? EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE , PLEASE INFORM REV
|- - A2 COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED A
FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft I\l WEIGHT: SHEET 3 OF 6




3725

n L . Q
:;rrL.:
* < S <
B 3795 _
B 2570 -
» 75 X y
; \ b L * - Ly -
\ 150 %% * 504_* %% %§
8, - T S -

FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft

t2.0mm 25mm 3.0mm

Post Wall Thickness Lome

TITLE

Palisade
In Sizes C
NAME UATE
ORAWN LT 23/02/21

PALI-BAY-0005 - 3.0m HIGH

TOLERANCE [+ Zmm

Unless Stated Otherwise

0IG IN PALISADE POST - AL 3725mm

Fence Itd, Kiln Way, Swadlincote,

3RO ANGLE

&=

01283512 111  sales@firstfence.co.uk

. ® First
II||| F| rst Fe n ce Derbyshire, DE11 8EA
e HIRE & SALES ———
NOTE:

SIZE | svotto e iscaepces s Foune it T oRawi  PEASE N
FFFFFFFFFF
AZ COPYRIGHT OF THIS DRAWING IS OWNED BY FIRSTFENCE LIMITED.

REV

A

WEIGHT: SHEET 4 OF 6




PALISADE FENCING 90° CORNER POST DETAIL

FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft

~

63

(

LN
-—

[ag!

-—

il

15

[tem [ Component Name
A | PALI-BAY-0005 - 3.0m HIGH DIG IN PALISADE POST - AL 3725mm
B | TRIPLE POINT PALE / ROUND & NOTCHED PALE / SINGLE POINT. ON REQUEST
C | M12 X 30mm CUP HEAD BOLT + M12 SHEAR NUT
0 | M8 X 25mm CUP HEAD BOLT + M8 SHEAR NUT
E | ACCS-PAL-0102 - CORNER FISHPLATE FOR PALISADE FENCING
— HNAME 23/@%’/*;5 " PALISADE FENCING 90°
T [ORNER POST DETAIL
Unless Stated Otherwise |I||| FirstFence® P Bence . Koo Wy, Svdlincomn,
3R0 ANGLE HIRE & SALES sales@firstfence.co.uk
/I SlZE SHOULD ANY DISCREPANCIES BE FOUND WITH THIS ORAWING, PLEASE INFORM REV
'— - A2 COPYRIGHT OF THIS ORAWING IS OWNED BY FIRSTFENCE LIMITED. A
I\l WEIGHT: SHEET 5 OF 6




PALISADE FENCING END POST DETAIL

19
s
[
30
116
/-

?

25 6
’<—>
_ | |
30 |
6, 30
Tﬁﬁl = o

FILE NAME: PALI-KIT-0005 - 3.0m HIGH PALISADE DIG IN FENCING KIT TRIPLE POINTED W PALES.dft

Item | Component Name

A~ | PALI-BAY-0005 - 3.0m HIGH DIG IN PALISADE POST - AL 3725mm

B | TRIPLE POINT PALE / ROUND & NOTCHED PALE / SINGLE POINT. ON REQUEST

C [M12 X 30mm CUP HEAD BOLT + M12 SHEAR NUT

0 [M8 X 25mm CUP HEAD BOLT + M8 SHEAR NUT

E [ ACCS-PAL-0103 - END FISHPLATE FOR PALISADE FENCING
ORAWN L.TNAME 23/02;/\;E v PAUSADE FEN[lNE
TOLERAE T2 o END POST DETAIL

UﬂlESS S’m’[ed UThEFWiSE II||| FirStFence® First Fence Itd, Kiln Way, Swadlincote,

/I SlZE QI%ELD ANY DISCREPANCIES BE FOUND WITH THIS DRAWING, PLEASE INFORM REV
FIRSTFENCE.

|— b A2 COPYRIGHT OF THIS ORAWING IS OWNED BY FIRSTFENCE LIMITED. A

I\l [WEIGHT. SHEET 6 OF 6

HIRE & SALES 01283512111  sales@firstfence.co.uk

3RO ANGLE |






